-Wo 2.40 t/m3
100 cm
200 cm
10m/h
12mm
60x 60x 2.3
2- 60x 60x 2.3
2 5
25 cm
60 cm
50 cm
(m/h) 10 10 20
1.5 1.5 4.0 2.0 2.0 4.0 4.0
WO*H  1.5*W0+0.6*W0*(H-1.5 WO*H 2*W0+0.8*W0* (H-2) WO*H
3m
WO*H  1.5*W0+0.2*W0*(H-1.5 WO*H 2*W0+0.4*W0*(H-2) WO*H
3m
WO*H 1.5*W0 WO*H 2*W0 WO*H
Wp
Wp= 1.5*W0+0.2*W0*(H-1.5)
= 3.84 t/m2
12mm
2 = 14.4 cm4
Z= 24 cm3
= 56,000 kg/cm2
b= 140 kg/cm2
L= 25 cm
W= Wp*1000/100
= 38.4  kg/cm
M= W*LA2 = 38.4*25.0"2 = 3,000 kgcm
8 8
o b= M = 3000 = 125 kg/cm2<140=fb 0.K
YA 24
0 = 5*wrLNM4 = 5*38.4*25.0™M = 0.24 cm<0.30cm 0.K
384*E*1 384*E*1
60x 60x 2.3
2 = 28.3 cm4
/= 9.44 cm3
= HtHHHEHE kg/cm2
fh= 1,600 kg/cm2
= 60 cm
= *
= 3.84*0.25
= 0.96 t/m
= 9.6 ka/cm
M= W*LA2 = 9.6*60.0"2 = 4,320 kgcm
8 8
o b= M = 4320 = 458 kg/cm2<1,600=Ffb 0.K
z 9.44
0 = 5*wrLNM4 = 5*9.6*60.0"4 = 0.027 cm<0.30cm 0.K




2- 60x

Pa

= W2

W*LA2

384*E*I

30 cm

= WLnh2 o =

w*L"4

8*E*I

60x 2.3

50 cm

*

3.84*0.60

2.304 t/m
kg/cm

23.04

8

M =

z

S*WrLN =

384*E*I

30 cm

wHLAg =

8*E*I

Pa
1,400 ka/

*

3.84*0.6*0.5
1.152 t
1,152 kg

384*2,100,000*28.30

9.6*30.0"2
2

4,320
9.44

9.6*30.0M

8*2,100,000*28.30

= 56.6 cm4
/= 18.88 cm3
it kg/cm2

b= 1,600 kag/cm2

23.0*50.0"2

8

7,200
18.88

5*23.04*50.0"4

384*2,100,000*56.60

23.0*30.0"2

2

10,368
18.88

23.04*30.0M4

8*2,100,000*56.60

<1,400=Pa

0.K

4,320 kgcm

458 kg/cm2<1,600=fb 0.K

0.016 cm<0.30cm 0.K

7,200 kgcm

381 ko/cm2<1,600=fb 0.K

0.016 cm 0.30cm 0.K

10,368 kgcm

549 ka/cm2<1,600=Ffh 0.K

0.020 cm<0.30cm 0.K



